Operations with Negative Numbers

Work out:

@ 13 O S L)

(e)e' =5+ 6 (i =6 g
(e)i=—"03—. 3 25086
Work out:

(e OerEs—3" (b)) 7 — &6
(e A La=d. (d)  —6 — +3
e 3+ 7 (DR —2.6%1" -4
Work out:

@b — —4 (00 ) gt =
5 (d) —3 — —9
(ES e D () —0.5— —45
Work out:

(@i 200 —4 (o) a7 X3
oS -60 (d) +2 X —9
@68 (D). T X =7
(O D58 (h) & +2ix —0.5
e =300 3 () (—3)°
Work out:

(a) 8 +-2 (DRE =0y~ 3
(ol 2h it b S (d) " +12. + —4
(e) —30 +-3 () +10 + +2
e = =1 (h) =20 + —25
Work out:

Q6 =5 — —7

(b) (-2 x -5)-— -9
(EEG)% - —4

(-5+ -7) x(3— -1)

(d)

(a) -2 ()-S5
QT (o) 2
& -5 () -35
@ +1 (=)+1

(e =6 ¢ Sl

(oh o (EURRERC

(coteier (Bl
() +4 (M +6
G (G

() -% oy -2
S (J)-IB
(e)—\- 19 (F\)““'q
G 2 @\
QF )

@l — % -h
-5 (@-°
3 r1a (61D
(5)-\-*1 (\f\v +3

(a) —=
G-+ 19




